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e button
e line-height
e top: 50%; margin-top: -height/2;

transform

margin: auto;

vertical-align
o displaytable:
display: flex;



button
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<button>HELLO<br/>HELLO2</button>
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.button {
width: 100px;
height: 40px;
line-height: 40px;




top: 50%; margin-top: -height/2;
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.target {
position: absolute;
top: 50%;
height: 100px;
margin-top: -50px;




top: 50%; transform: translateY (-50%
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.target {
position: absolute;
top: 50%;
transform: translateY(-50%):;




margin: auto;
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.target {
position: absolute;
left: 0;
right: 0;
top: 0O,
bottom: 0;
margin: auto;



ex) popup-viewer

img {
position: absolute;
left: 0;

right: 0,
top: 0;
bottom: 0;

margin: auto;
max—-width: 100%;
max—height: 100%;




vertical-align: middle;
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<div class="target">
<span>HELLO</span>

</div>

.target {

s
.target:before {

content:"";
display: inline-block;
vertical-align: middle;
width: 1px;

height: 100%;
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<table>
<tr>
<td>
HELLO
</td>
</tr>
</table>




display: flex
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.target {
display: flex;
align—-items: center;
/* align-contents: center;*/

/* flex—-direction: column;
justify—-content: center;*/




